Algebra 2 Name ID: 1

Assignment Date Period

Write the slope-intercept form of the equation of the line described.

1) th h: (-3, 1 llelto y=-2x-3 1
) throug ( ’ )’ paralict o y X 2) through: (4, —1), parallel to y = —Ex

3) through: (4, 2), parallel to y = - %x +3 4) through: (4, —1), parallel to y = - %x +2

5 2
5) through: (=2, 0), parallel to y = Ex -3 6) through: (5, -2), parallel to y = gx +1

7) through: (1, -5 llelto y = -6x -2 8
) throug ( ’ )’ parafictto.y x 8) through: (—2, —4), parallel to y = —gx— 3

9) through: (1, 3), parallel to y =3x + 3 10) through: (5’ _1)’ parallel to y = —%x _q

11) through: (—3, 5), parallel to y =2 12) through: (—1, 2), parallel to y = -5x - 4

13) through: (1 llel = :
3) through: (1, 0), parallel to x = 0 14) through: (-4, 2), parallel to y R 4

15) through: (1, =5), parallel to y = 3x - 3 16) through: (-3, 0), parallel to y = —%x +1

1 1
17) through: (—4, 2), parallel to y = - gx +4 18) through: (2, —1), parallel to y = — Ex +4
2 3
19) through: (5, 4), parallel to y = gx -4 20) through: (—3, 2), parallel to y = — gx +5
3 1
21) through: (0, 0), perp. to y = —gx -1 22) through: (-1, 3), perp. to y = Zx -5

1 3
23) through: (—1, —5), perp. to y = —gx +5 24) through: (-5, -4), perp. to y = —7x -2



25) through: (4, 2), perp.to y=-x+2

1
27) through: (3, —1), perp. to y = Ex
5
29) through: (—5, 2), perp. to y = Zx -5
2
31) through: (—2, —5), perp.to y = —;x -3

33) through: (—3, 1), perp.to y=8x+5

4
35) through: (4, 3), perp. to y = —7x +5

37) through: (5, -2), perp. to y=-5x -2

4
39) through: (4, 1), perp.to y = gx -3

5

26) through: (5, —3), perp.to y = Zx

28) through: (0, 2), perp.to y=-x+2
3

30) through: (2, 5), perp. to y = —Zx +5
5

32) through: (5, —4), perp.to y = gx -4
1

34) through: (—4, 4), perp.to y = Ex +3
4

36) through: (4, 1), perp. to y = —Ex +5

2
38) through: (1, —4), perp.to y = —gx +4

1
40) through: (3, —5), perp.to y = gx +4



Algebra 2 Name ID: 1

Assignment Date Period

Write the slope-intercept form of the equation of the line described.

1) through: (—3, 1), parallel to y = -2x - 3

1 1
2) through: (4, -1), parallelto y=-—x y=-—x+1
e ) through: (4, -1), p y=-gx ye-o

3 3 1 1 1
3) through: (4, 2), parallel to y = —Zx +3 y=- Zx +4) through: (4, —1), parallel to y = —gx +2 y=- gx + 3

5 5 2 2
5) through: (—2, O), parallel to y = Ex -3 y= Ex + 56) through: (5, —2), parallel to y = gx +1 y= gx -4

7) th h: (1, -5 llel to y = —6x -2 8 8 28
) through: (1, -5), parallel to y * 8) through: (-2, —4), parallel to y = ——x -3 p=——x - —

y=-6x+1 3 3 3

9) through: (1, 3), parallel to y = 3x +3 10) through: (5, -1), parallel to y = —%x -1 y=- ix +1

y=3x
11) through: (—3, 5), parallel to y =2 12) through: (—1, 2), parallel to y = -5x - 4
y=35 y=-5x-3
13) through: (1 llel = 1 1
3) t rOlig (1,0), parallel to x =0 14) through: (-4, 2), parallel to y = Zx +4 y= o +3
X =

15) through: (1, —5), parallel to y=3x -3

5 5
16) through: (—3, O), parallelto y=-—x+1 y=-—x-5
y=3x-8 3 3

1 1.4 1 1
17) through: (—4, 2), parallel to y = — gx +4 y=- gi&-)gfhrough: (2, —1), parallel to y = - Ex +4 y=- Ex
2 2 3 3 7
19) through: (5, 4), parallel to y = gx -4 y= gx + 220) through: (—3, 2), parallel to y = — gx +5 y=- gx + <

3 5 1
21) through: (0, 0), perp.to y = —gx -1 y= gx 22) through: (—1, 3), perp.to y = Zx -5

y=-4x-1
1 3 7 23
23) through: (—1, —5), perp.to y = —gx +5 24) through: (—5, —4), perp.to y = —7x -2 y= gx + 5

y=3x-2



25) th h: (4,2 toy=—-x+2 s y
) throug 2( ) ), perp. o y =-x + 26) through: (5, —3), perp.to y = Zx y= _gx +1
y=x-

28) through: (0, 2), perp.to y=-x+2

1
27) through: (3, —1), perp. to y = —x
2 y=x+2

y=-2x+5
4 7

5 4 3
29) through: (—5, 2), perp. to y = Zx -5 y=- gx - 230) through: (2, 5), perp.to y = —Zx +5 y= gx + 3

2 7 5 8
31) through: (—2, —5), perp.to y = —;x -3 y= Ex +32) through: (5, —4), perp.to y = gx -4 y=- gx +4

1 5
33) through: (-3, 1 toy=8x+5 y=-—x+— 1
) through: (3, 1), perp.to y=8x+5 8x ! B4) through: (-4, 4), perp. to y = Ex +3

y=-2x-4

4 7 4 3
35) through: (4, 3), perp.to y = —7x +5 y= Zx -4 36) through: (4, 1), perp.to y = —Ex +5 y= Zx -2

1

37) through: (5, —2), perp.to y=-5x-2 y= gx 3 11

-3 2
38) through: (1, —4), perp.to y = —gx +4 y= Ex Y

4 3 1
39) through: (4, 1), perp.to y = gx -3 y=- Zx + 4 40) through: (3, —5), perp.to y = gx +4

y=-3x+4

2-



